MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

arfef3a yfsgues (HisfEan) e ae-uae

1. 95 &3t aret gga mifamr fegAune gu &8
©R 1d fer s feg yar 1,2 »3 3 § &'q] das feg
HHJIS M3 MHAJS ddd fddx fadl J&:- gast 3
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JegH" €l BaTgar gat 384000 km J W3 a3t €

Y3t UfgaagH™ dge € IH3T Bargdl dadt J1 fea
H& d {9 deagH™ ggst €t ufgdaHT 24 Wi feg yot

dde' Jd, ©R fa fan % &% degH™ g3t Tt
UfgegH™ J3dT (7 =3.14 B<)|

o Watch Video Solution

2. I 3t aret ada AdfT feg Aadre gu &8
©R 13 fer us feg yart 1,2 »i3 3 § &q1 das feg
HHdI3 M3 MHAJES dda fadl fads d&:- fea

ytged 8g' Hdlfent feg, fag feg 8g geg dieg


https://dl.doubtnut.com/l/_uZXCkpI1il25
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1 YWl &dt age, faAdt € St viA3s T 1000

ga13'6 de J1 G Hdlfent' feg Gg g7eg dieg
<" YWdT dae’ J, B4 Hdlfant feg famst & #»ins

fa® 31240 »@e" J1 Teg dicd € YudT Ids €t
8913 ¥ 8 Y3 Uer JIfg fos feg eeg dleg &
yaar fis »iA3 uifert B¢t i3 Afer 3 GRS Uzt
ad|

o Watch Video Solution

3.H& B 3HT 9ad '3 ¥3 Ege € 83 AH § uie

3 uie Jd&T Ide Io| foHaB3 aradt fed faal
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IR HI3SYIS I& M3 {03 9 HI3IYIS &t

I&I (1) Ueds & aiH31 (2) 89 ©d fAd &5 99

MBdl- MBdl AZa 3 BT 8 Td< Id '3
yddae Ia&l (3) Afeas M3 fagam mirfe eddt ait
J3l o8 I8 % Tde M3 d'd 3 Hedneds

10 37 I3t 7% I5c T8 TaS T MU |

° Watch Video Solution



https://dl.doubtnut.com/l/_mMuhT6boFfaH

1.H »ryet 919 EniraT 432 km €1 gdt 3w dist »i3
fern f€g 48 Hicg Ueds dfarTl A »rust dg

€1d" BH HE'S 39 A J fAgdt 18010 €9 J1 oA

2 Bet °HS fd& Ueds & 83 d=dit ?

o Watch Video Solution

2.¥5 B8 HUld & 8% ©f AUdS A& fem™ ©g
&8 ¥ 15000 foen o3 | faen 3 fHodt us gt
et 9 89 o €9 fea @fdar vHls ydles
g7der J, farA<! aH3 ¥ 19000 J1 €1 B9 fds A
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B¢t 315000 foed d9 37§ GG =fHaT HHiG
ydtee Bt 33t U6 IHt yru3 d /e ?

° Watch Video Solution

3. fex Heg-ge fed &7t €9 2am & 88c femr
feg 7 d, o€l fdad ER € &arg’ @ fe9 €t got 8
uifent’ f&9 31 da<t J1 feat dt gt Zami €t famr
feg Un wifenr f€g 3 Iget J1 Hdd 2gm €t 978

2 km/h d2 3T 713 Uit fég 8¢ Tt 98 3T a4l

° Watch Video Solution
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4. & B8 393 3B 6 Hiead B8 M3 5 Hieg I3
fed g J1 3HT fer a3 @ @39 3 30 cm S
% Eddrdd oest BargeT Ide J1 fer 2 BEl
fdat erfest €t iggs d=aft ? fea arfef3a yfsgu
g d foH § I8 JJ1

o Watch Video Solution
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